W H - w2 2017T4ET A 27-28 A h7y 7R M s
R Koy Bt in IR E R [ e EtH ] BCEHFAR A FHia
B4 KTERITR— 24 PR H & B2k
- — - AL — NI R a[)ll FiE
FAEFI R4 KB HBEERB S KRy R AR EE Rt 44 Kok EEiE e RETTFHE H) EX
A | #&H 167 261 37 4h7 57 67 he 8fir
Semte t|7osn| o00m [EB BB 2591 GOYHE KBS 2500 COI|AF ZFIS) 2662 0| )IIFF £2(3) 2066 +0.9)|FIE HE(2) 2678 GOI|NE F#(2) 2714 03)|IUK HH3) 2754 0.3)|FRE FE@Q) 2807 +0.3)
a - Eiam s Roy-FAASH K5 - B ch M- ILE S a7 - R P K5 LBy Eh A5 -HEHEFES B - Bk
7r288 | 1500m WA BRFI()  4:44.11(8F 3<BQ)  4:4535|FRE #53) 4:50.08|%E ZEF((R) 4:51.99|®mFE SiFa@  4:5283|IHE B@3) 4:52.99| 3 FEQ) 453444k FH MNZQ) 4:54 41
K4y FEEmEH {ER-BBAh - ILEG LREE-FEE -y B 7 - kM Ko REH Ko/
7h288 | 100mH B $3E(3) 1540 (-0.2)|¥HE EIQ) 1567 (-02)|EHE HE®R) 1569 -0.2)[[EA HF(2) 1584 (-02)|4HWE HiP(3) 1609 (-02)|FxHE ER3) 1618 (-02)|&E RIE3) 1650 (-02)|F)Il FE(B) 16.73(-02)
K5 -HEEFEH EI#F- b H 7 - 5 &8 kA +h K5 -FES K5y -BHEF e FE- AT Ko -/t
ZERET s 50.07|X4%>-fEErE+H 51.07| K% - &S 51.17|{&fB- B8 52.48(RIFF-EA A H 53.30|#F & ILEF 53.50| K% - KTEF 54.01|{&18-t&{ERES 54.40
FiE HEQ =t HEQ) FER BLiQ) KiE BEEQ2) % FZE0) EfE #5) ZHE HH;BHE) INEFH EW)
TH27H|4x100mR(EE BE@®) e EFQ) EEH E(Q2) T& KRIKEQ) EE &s0) A KB Bk =0 ®II £i\3)
XH BEQ LA E53) BE ESOQ FiF EaQ2) =ER RE@) KA HEQ) L8 BEE(2) 1EiE EMES)
BE FEQ) mE RIGQ) HWEH FELEQ) i NEE) SRR E50) JIEF @0 EXR EEHRQS) TE RWEHEQ)
Thora | £k B FIKEQ) 1.45|E5E miEl) 1.45(%%k #2@3) 1.40|EZEME #(3) 1.40|fAA EBHxQ2) 1.40| LA HEHQ) 1.35/NE)I| BEQ) 1.35|E&8 DEMQ) 1.35
EH-Bag A FF -8B Ao -WE P ER-BHh K5 -FES R - RES EAR-E—h AL
THo8h | A lERk EMH ZEW) 508 (-05)|ME EF@Q) 505 (+0.2)[fFE Fib3) 5.04 (0.0)|XE BHEQ 502 (00)|HE= #EZ3) 4.92 (-0.6)|EH #(1) 487 00)|RE HZEN) 482 (-06)|H FKE@Q) 478 (+0.2)
{E{a- AT K5 HEEFEH Ko -WERh - AT K4 - WE S {E{a-{Eamt B FF - F L A AF- 818 &
TR27E | R AE REQ) 1415/ F1lL E&EKQ) 11.93(#8HF {Z%0) 11.35|EQ HAED) 11.22|mx £@8z0) 10.73|BK HYE(@Q) 1043|E 3<KB1) 10.38[4E #£73(3) 10.18
8- RER ZEN|F& - FaEp e EI#F - Fa b B 7 - BRfE LHAH ZEF EI¥F- e #ER-EEG EiR-EAat
vt z|78278| 100m iR #BEFQ) 1285 (+0.2)| M 1&F(1) 1334 (+0.2)| A FEB() 1342 0 EH() 1345 02|EEA #Hl(1) 1366 (+0.2)|EM FEE1) 1367 +0)|EIE BE(1) 1378 +02)|dhF ==F(1)  1415(+02)
&8 & A K4y Bl FF- & L Al AT -8 B & 18-k EmES EAE - BT Ry -/ FI#F-dt e
78278| s00m WA BFEI()  221.01|F01 0 2:221.62[5FK T 2:22437[ILK #EFO)  2:26.24|8E EEN)  2:2822|AE FEQ1) 2:2995|FH# HthF()  2:36.34|FA EAMO) 2:37.35
K5 HEEFEH GR| K% -iEEH GR|2#EE-HET thig-fgo R 18-k EmES M-I Nk ZHmH Koy -ERS
ot tl7A2ra| 100m FiE BREEQ) 1292 (0.)|RA FBQ2) 1315 +0.1)|—[R FIEQ) 1321 GO.D|BAR HFQ) 1323 00| 2r(2) 1324 +0.0)|EZK Q) 1326 0.0k BF BIE(2) 1328 (+0.0)|FHE XZF(2) 1329 (+0.1)
7 - kR x4 LBy Eh K5y BHE Eia-kamt K4 - WE S Ry ERES 7 - kM FI#F-dt e
7a278| s0om BEH (52 2:17.80|CH SEE(2)  2:23.16[|mE DIFE(Q2)  2:2366[/Mk TEQ) 2:2550|HE =R  2:26.38|iHRIHF BF(Q) 2:26.45i% 82 =(2) 2270112 L XF(©2) 2:27.99
EH-Bag GR| X% -BiEF g B Ky KEdh B EE EES R/ PTHE - AEH EiR-EAat
s l7a278| 100m AIEF BHI(3) 12,60 (-0.2)|#fE FEBE3) 1270 (-0.2)|34 BIEQR) 1284 (0)|FRE HFEQR) 1301 -02)|H L FEQB) 1314 0| E EFB) 1314021 K FIKEB) 1315 0|JIEF £(@3) 13.17 (-0.2)
X5 - BB Ko -ERSH R4 -FEAEF B 7 - BRfE Al ATF - L K5 -FEHRH EiR-EAat M- ILE G
7a278| s0om TR BE@) 2:2067(1RFF MIZR)  2:21.16[HE X))  2:21.21|FEHE #0) 2:2209|1FK BZEQ)  2:2493|FH EEQ) 22511 |EE KE@Q) 2:29.86
7 - kR KA R/ SHEE-BES M- ILE P Ry -EES Ko REH AlFF-8AA G
wrrsr| 7280 | somH EM ALEQ) 1266 (-0.4)|KEF BIEEQ) 1282 (-04)|KEE MEZS(2) 1334 (-04)|EH ZFE(2) 1350 -04)|ILUA XEFQ2) 1401 -04)|A[FF K1) 1406 (-0.4)| B HE ZEEH(2) 1436 (04| KT BHEF2) 1474(-04)
X5 - BB 7 - kR Al i - SR &R e K-/ AFF - F L 7 - kM Ry ERES EiR-EAat
- Efam s 52.57|BIFF - F 1L 53.33|tkla- & T 54.47| K%/ 54.56| K4 K& 54.81| K% - EHEF 55.95 7l FF - =5 56.44
&R BEEQ) 11):: &30 ok BH2) B FE2) FEE 22 HH #Q2) FAE #M(2)
7H28H | 4x100mR{E{H H#E(1) AR =B =% =Z2O EE B0 #®E FF) HO BZEW HFE BR()
ER #E0) ZER BH(1) =E W) ol ) T #EEO) A¥ BEQO) a5 B&0)
Ba $EQ) ik Sl 102) R R%EQ) Bl FEFEQ FE Q) B BFE2 BB EEQ)
KL | ke F o B - RS 60| K% - BHEF b 48|{E{l-E{ar S 46| K% - FEER S 43|1E{H- RS 38| K& - HWEH 34| K5/ 24| FF-F L 23

ZEN : 2= sEineg

PR: B GRIRSH L&




I S R R A T (L B ] HIH - K51 20174E7 2728 H Lj{/ﬂiﬁﬂg Eij; a;fé?f
= LS e ~ 4 R 2=
e SRR R A AR W KAIITR— 1 BRI s
- — 25— MR Al HeE
FER4 KB HEERB S RO EEHE fE 4 Kok bgitiite AT R HN IEX
Aft | #&H 1AL 241 3fr 4 A 64L AL 8hL
w7080 200m BT H53) 22,90 (-0.2)| kA B{=(3) 2297 (-0.2)|Fki#f #1(3) 2358 (-0.2)/MIl BFE3) 2367 (-02)|iEE MAG) 2371 (-02){EHA FER(2) 23.92(-02)|AA EiK(Q) 2408 (-0.2)| L 1&[5(2) 24.15(-0.2)
KBRS S HE-ILEFR K& -KEFH K5 -HEED ER-Bad Ky -BHFEE AAF-LLDFF A KEH
1A278| 400m RE EIZ0) 52.53[/MIl BHEEQ) 53.38|ALL EHHE3) 54.18|ME F—41(3) 5490(FH BA®R) 55.39(f1E Ki#E(2) 55.60| 52 Z/(3) 57.03|Fk %H(@3) 57.21
HE-ILEP K% -HEAED Ky -HEH K- LHrEH K5 L ER Ao -EEF FE-FEH A5 -l H
7A287| 800m R REQG)  2:04.18|/0Il BB 2:0419[%k KiEQ)  2:0499(mis BHG)  20702(#%K BEAQ  2:0890[/EHE Q) 2:10.87|#%/R FNEE(3) 2111708 5=(3) 2:13.78
LAY =Eh Ko -EEF FE-FHE S gy B Ko -EEH L EE-SHAD g -t ER-Rik$
75288 3000m T8 G 9:10.06|E32 AASR()  9:11.98|AFA AMHH@Q)  9:27.19@% #ZE@Q) 9:30.33|%MA £E2  9:31.37[FH EHHE®O) 9:32.01 (/ML BEZE(3) 9:34.33| /K& HEHO®) 9:39.45
P ik LA ZE TR AfEG Ky -KEH K5 - R/ g 5P Ko -fEAH A KEH
17286 110mm 4= HEB) 1532 (-0.0)|FIEE EEEQB) 1586 (-0.1)|{FR BHEQR) 1629 CO.N|=[F #EH(3) 1634 -0.D[/NEF RAE) 1638 (-0.)|FH MHEQB) 1648 (-0.0)|RK¥ B K(E) 1651 (-0.1)
K43~ R ER-HHt EE-Bag LER b i ST E1R-EBT A5 -HEF
{18 - BRI 45.15| K5 - meh 4542| K5 KTEH 45 44| ¥F - 1LF G 4580 |#&f8- #iTMES 46.59| K5 -k /ich 46.82| A A -EER 47093 R - BHh 1:02.01
WM M) SE REOQ hiE BEQ) BiE REEQ) Fa[ER 2(3) N =HEQ) Kig BHEQ) HAE BRAENQ)
TH27H [4x100mR| ¥ ZBE) I %23) B $ERCQ) BE BEQ) TE KEEQ INFNIL BHEQ2) Il ZE@Q) BIES EBEQ)
EING) HH RN A #ARQ) KA ZEREG) =F #@1E) A ENE) 2H %0Q) BX 2
Bk B M SEE@) RE #3) RE BI=(3) N SRAQ) =5 MREEER) R RAERS) B HAMQ)
IE KBEG) 1.75|F% XRR=EQ) 1.75| K+ #XHG) 1.70|#8k R3hA3) 1.65|548 BEHEQ) 155|#F HEHEAQ®) 155|2H H&©Q) 1.50
BIAF- L &R ch A5 BREF HE-WEP 1A fammEs FI#-FE FE-BR)I AfF-@BReEH
NG EIE(2) 1.50
, o R-RBH
TH28 A | A& mBk ) 150
BIR-BRES
HER B2 1.50
X5 -fEAF
g, | R E—(3) 290|128 G 2.40|FTED #(3) 2.30
TH21R| HeBE Koy ER S (et T fef T
1hosn| EiE EH $H3) 643 +05)|{kBE Q) 628 (0.0)|HH AAAE(3) 6.04 (+0.2)|FHE B R(3) 585 (+0.8)|lL EZBI®) 5.70 (F0.2)[/NF)II EHE(2) 565 (-0.3)[3 FK(3) 559 (-0.4)|/NE§ SAER(3) 5.46 (+1.3)
ER-EBT Al FF- LA Ko 3R/t Ko -HEP 8- A K-/t REE-/\ i BRF-F L
107n| gy [BF BREG) 1268 0N RAKG 1218 10| KE HIEG) 1149 CoaMK RINE) 130 10| FF BAG) 1125 1.0\ A HBEIR) 121 GOD(EA EABAG) 1117 G0|#IU KME) 1113 (0.4)
- Ky $R /i BIAF-F Il {Eia-gea g 1E1a- B\ B FiE- TP A - kR -k
1hosn | mos R EBEREG) 13.34| %k RA®) 10.73|78 FEA®) 10.67|h 8 KEEQ) 10.54|FE BKAEG) 10.45| B4R KEE(3) 9.72|% R 2iEQ) 9.64|#RT EKR(Q) 9.45
L ik ZEN|BIFF- L83 Ao -EFH A LR X5 LBy ER -k Ko -BXH AF-BRESP
vER 77277 100m B ZHM() 1193 +08)|FHTT (1) 1208 +08)|HEFE FE(1) 124208)|FH FE) 1243:08)|F Il FWMEG) 1270 G0.8)|FHE ZEKR(1) 1282 08)|EE —IE(1)  12.87 +0.8)| Il HEK(1)  12.87 (+0.8)
118 -BBFIH Ko -EBEH BREE B Ky -BEF B - T Bl - &R FI#-E 118 -8B
78286 1500m B GARR(1)  4:2957)EM MA() 4361840 AN 43645|FEE EEE()  441014EFE WERG)  44243[F0R BIR®) 4:4561|8)11 BIAER(1)  4:47.59|HE8 BRAK(1) 4:50.69
K- KEF K5 - KEH K5 - BT L@EE-BAG - FR £18-BFI$ Xy -BEH X5 -BHEH
om|7a27a] 100m B BEAQ) 1149 (0ND|EX EF2) 1159 tOD|EE BEFQ) 1166 G0.N|EFR BAQ) 172¢on| L L) 1183 0D|[HHE REXEQ) 1196 G0N TEQ) 1207 00| ¥ &[H(2) 12,09 (+0.7)
K5 -FEERS 1E18 - BBl K& -FEESE FI#-Ep K5 KEF T E - #E E R - Rk K5 - KEH
18276 1500m $HAR BXQ 4:19.59| KF 1&18(2) 4:19.90(BEE E£E(2) 4249138 BKR2) 4:2868|IF —K(@) 4:31.98[184 KiE(2) 4:35.17|EIE fKQ2) 4:35.18|F/# KE(Q2) 4:35.66
K -BEP K5 -R/dH Kp$R/dig K& - KEH BH -tk FiE- TP LHAF-ZEF hiE-EhEF
3B rl7a278] 100m i SEE) 1118 CO)|AT AS@) 11.20 H0.3)|FER FEE3) 11.58 0| FR#E #H(3) 1161 0| HKRQ) 1171 COB|F|FT FAZ(3)  11.75 +03)|FHE EAERE) 11.95+0.3)|FHME ERKE)  11.97 (+0.3)
K-S ZEN| X% -#ixH & ZEN|ZER-Aig K& -KEH Ea-gag 18- B ER-Biig EfR-REH
7A278| 1500m EE MAREG)  41270[/M1 BHG)  413.08[FEE F0(3) 4:17.83|5W%F #IZE@G)  419.54|/ML BEZER)  4:19.55|%Kk KEQ) 4:22.83|HFA AHH(3) 4:26.10| FH %985(3) 4:26.26
B ARG =E Ky BEF AR/t Ko KEHP A& -FEH T FE-FEE FHE- A& hiE-BEF
|77 28| 100mH WA Fik2) 1487 GO3)|HEE B2 1513 (+0.3)|EE H42(2) 1524 +0.3)[AIEF £(2) 1559 +0.3)|ILEF K2 1575 +0.3)|RE FH(Q2) 1650 +0.3)|FFE ZHh(2)  17.09 (+0.3)
B - ch R e B - F K- R/tHH K& -HWEsp (et TS -y EP Ko R/
Ky -EREP 46.94| k%) - FEAE D 47.70|E R - Rl 48.64| A HE - =[2ch 49.20| B3 77 - &R cp 49.25| K5 -k /Tidp 49.74| Bl FF - ch & ch 50.07
FIE KIFQ) ®H BE 5 A2 FE K¥E@2) R fiLN2) B 82 INE FAH2)
7H28H [4x100mR|H T (1) GR X EAD RER EHO) HH EHA) =) EE) g ZEFEQ) T ZEXRA)
HE AF) WE Hi§1) FHE BB B 23 ki () 9E EAXRBA) EH EHO)
INEF RLER(2) AR EAQ) ki =EQ) A Fa58@) E EEQ) T Eh(2) WA Fik2)
S SR/ B Ot b I ] 70| K% - EREH 66| K% KEH 37| M 35| K4 - 28|{&{a - B@FNp 27|¥FE&E-ILFE S 26|22 K- =Fh 25

ZEN : £

PR: RHEEFEE  GRiRESHRE




